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86 E5 8A Al E8 ¢85 645327.htm 1.Labor head count 0 [0 [0 A:
What is the labor head count in this plant? B: Two hundred and fifty
seven. A0 D0 0O0O0OO0OOOOO?B:2570 O 2.Plant layout [
0 0O O A: Have we finished the plant layout for this program? B:
The manufacturingdidthe layout A: OO0 000 O000dOgdn
JoO?B000000000000 3.Shippingd 0,00 A:
Do we charge for shipping and handling? B: We do. $3 per work
order Al OO 0OOOU0OOOOOOYBO,0000O03000
4. Vendor reduction O O 0O O O A: We are managing too many
vendors. B: Vendor reduction is one of the major initiatives this year.
AdO0O0OO00O00o00OB0ooooooodooodo
0000 5Workeceell O OO O A: Are we still using work cells? B:
This is a low volume production industry. We still use work cells. A:
Jododododoo?dbododouoo,0oooon
JodododooododBeECOOUlOUOOoUoUo
10 BECOUOOUOOUOOUOOUOO20 BECOOUOOOOO
OO00030BECHOUOOUOOOOODOO4O 100Test U O O
Jodododooodooooooodo
www.100test.com



